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NEW QUESTION 1
What can an administrator use to partition limited CPU and memory resources between two departments?

A. Resource pools

B. vCenter folders

C. vSphere distributed switch
D. vSphere High Availability

Answer: C

NEW QUESTION 2

A new vSphere 7.0 environment is deployed with the following:

* A single vCenter Server

» Two VSAN clusters

* A vSAN default storage policy

Which statement is true regarding virtual disk availability in this environment?

A. Replicas will be placed on different disk groups but can be placed on the same host.

B. Each virtual disk will have two replicas of data.

C. All stripes will be placed on different disk groups and cannot be placed on the same host.
D. Each virtual disk will have four replicas of data.

Answer: D

NEW QUESTION 3

An administrator places a 300 GB virtual machine named "Financel" on a 2 TB datastore containing other virtual machines. After virtual machine placement, the
datastore has 200 GB of free space. The accounting department takes a nightly snapshot of Financel, then deletes the previous snapshot. The administrator is
concerned about snapshots filling the datastore.

Which statement is true regarding snapshots?

A. vCenter Server will not allow snapshots to fill the datastore beyond 95%.

B. Any snapshot on Financel has the potential to fill the datastore to capacity.

C. The snapshots on Financel cannot outgrow the datastore in less than 24 hours.

D. The snapshots on Financel will be automatically committed if SEsparse format is used.

Answer: C

NEW QUESTION 4
Which feature can an administrator use for site availability with minimal effort and a low recovery point objective (RPO)?

A. vSphere vMotion

B. vSphere Fault Tolerance
C. vSphere Replication

D. vSphere High Availability

Answer: A

NEW QUESTION 5
An administrator wants to be able to log in to the vSphere Client and view the inventories of two vCenter Server instances. What must the administrator do to meet
this requirement?

A. Configure Enhanced Linked Mode on each vCenter Server instance after deployment is complete.

B. Connect each vCenter Server instance to the same vCenter Single Sign-On domain during deployment.

C. Configure the vCenter Server Management Interface to view both vCenter Server instances.

D. Connect each vCenter Server instance to the same vCenter Single Sign-On domain using the vSphere Client.

Answer: A

NEW QUESTION 6
A single host is manually configured to company standards.
Which option would an administrator select to capture this configuration for future use?

A. Reset Host Customizations
B. Import Host Profile
C. Extract Host Profile
D. Attach Host Profile

Answer: C

NEW QUESTION 7

An administrator runs a two-node vSphere cluster, which contains two domain controller virtual machines (VMs). The administrator wants to ensure that VMs run
on separate hosts without interfering with normal maintenance operations.

How should the administrator configure Distributed Resource Scheduler (DRS)?

A. Create a 'Should run Virtual Machines to Hosts' anti-affinity rule.
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B. Create a 'Virtual Machines to Virtual Machines' dependency rule.
C. Create a '‘Must run Virtual Machines to Hosts' anti-affinity rule.
D. Create a 'Virtual Machines to Virtual Machines' anti-affinity rule.

Answer: A

NEW QUESTION 8
What is the server virtualization product that combines the ESXi hypervisor and the vCenter Server?

A. vSAN

B. vRealize Operations Manager
C. vSphere

D. NSX

Answer: C

NEW QUESTION 9
An administrator is tasked with upgrading an existing vSphere environment to version 7.0. There are existing VMFS3 and VMFS5 datastores in the environment.
Which statement is true regarding this upgrade?

A. VMFS3 is supported with ESXi 7.0 to store boot configurations only.

B. A VMFS5 datastore CANNOT be upgraded; a new VMFS6 datastore is required.
C. An ESXi 7.0 host will NOT recognize a VMFS3 datastore.

D. An ESXi 7.0 host can automatically upgrade a VMFS5 datastore.

Answer: B

NEW QUESTION 10
What are two supported ESXi boot options? (Choose two.)

A. vSAN

B. NFS

C.iscCslI

D. SAN

E. vSphere Virtual Volumes

Answer: BE

NEW QUESTION 10
Which two storage technologies can an administrator use to deploy the Virtual Machine File System (VMFS)? (Choose two.)

A. iSCSI storage

B. vSAN storage

C. Fibre Channel storage
D. Virtual Volumes storage
E. NFS storage

Answer: AE

NEW QUESTION 11
An IT department is decommissioning a storage array and Casks an administrator with removing a datastore from ESXi hosts. What is a prerequisite for
unmounting the datastore?

A. The datastore is NOT being used by vSphere High Availability heartbeating.
B. The datastore is NOT referenced by a host profile.

C. The datastore does NOT contain powered-off virtual machines.

D. The datastore is NOT managed by Storage DRS.

Answer: A

NEW QUESTION 16

Refer to the exhibit.

Which two statements are true regarding the state of the virtual machine (VM) if an administrator clicks the "Delete AH" option? (Choose two.)
A. No snapshots will remain on the VM.

B. The VM state will match Snap-A.

C. The VM state will match Snap-B.

D. The VM state will match Snap-C.

E. Snap-A will be intact on the VM.

Answer: BE

NEW QUESTION 17
Refer to the exhibit.

Your Partner of IT Exam visit - https://www.exambible.com



We recommend you to try the PREMIUM 2V0-21.20 Dumps From Exambible
exam blb|@ https://www.exambible.com/2V0-21.20-exam/ (109 Q&AS)

What is the effective role the testl account has on the Finance01 virtual machine?

A. Virtual machine user
B. Administrator

C. Read-only

D. No access

Answer: A

NEW QUESTION 20

An administrator wants to ensure that when virtual machines (VMs) are powered on. Distributed Resource Scheduler (DRS) places them on the best-suited host.
When the cluster becomes imbalanced, the administrator wants DRS to display recommendations for manual VM migration.

Which DRS automation level should the administrator select?

A. Disabled

B. Fully automated

C. Partially automated
D. Manual

Answer: A

NEW QUESTION 21

An administrator would like to make virtual machine templates and 1ISO images available to all vCenter Server instances in the data center. Which feature should
the administrator use to achieve this goal?

A. Host profiles

B. Resource pools

C. Storage policies

D. Content libraries

Answer: D

Explanation:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.vm_admin.doc/GUID-254B2CES8-20A
NEW QUESTION 23

Refer to the exhibit.

Which trusted infrastructure component is missing and represented by the area labeled "A?"

A. Attestation Service

B. Key Provider Service

C. vSphere Virtual Machine Encryption

D. Key Management Server

Answer: A

NEW QUESTION 28
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